PreCalculus SAT#5  SHOW ALL WORK!

Put the LETTER of the correct answer in the box

Name

1) 7)
2) 8)
3) 11)
4) 12}
6) 18)







SAT Paethced2 partZ
Math Test - Calculator

55 MINUTES, 38 QUESTIONS (2/-/3 )

Turn to Section 4 of your answer sheet to answer the quastions in this section.

DIRECTIONS

For questions 1-30, solve cach problem, choose the bast answer from the choices
provided, and fill in the corresponding circle on your answer sheet. For questions 31-38,
solve the problem and enter your answer in the grid on the answer sheet, Please refer to
the directions before question 31 on how to enter your answers in the grid. You may use
any available space in your test booklet for scratch work.

1. The use of a calculator is permitted.

2. Allvariables and expressions used represent real numbers unless otherwise indicated.
3. Figures provided in this test are drawn to scale unless otherwise indicated.

4. Allfigures lie in a plane unless otherwise indicated.

5. Unless otherwise indicated, the domain of a given function f is the set of all real numbers x for
which f{x) is a real number.
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The number of degrees of arc in a circle is 360.
The number of radians of arcin a cirde is 2.
The sum of the measures in degrees of the angles of a triangle is 180,




"A musician has a new song available for
downloading or streaming. The musician earns
$0.09 each time the song is downloaded and $0.002
each time the song is streamed. Which of the
following expressions represents the amount, in
dollars, that the musician earns if the song is
downloaded d times and streamed s times?

A) 0.002d +0.09s
B) 0.0024—0.09s
C) 0.09d +0.002s -
D) 0.09d - 0.002s

“A quality control manager at a factory selects

7 lightbulbs at random for inspection out of every
400 lightbulbs produced. At this rate, how many
lightbulbs will be inspected if the factory produces
20,000 lightbulbs?

A) 300
B) 350
C) 400
D) 450

o £=24+35m

One end of a spring is attached to a ceiling. When an
object of mass m kilograms is attached to the other
end of the spring, the spring stretches to a length of

¢ centimeters as shown in the equation above. What
is m when £ is73 ¢

A) . 14
BY 27.7
C) 73
D) 279.5



v
Questions 4 and 5 refer to the following information.

The amount of money a performer earns is directly
proportional to the number of people attending the
performance. The performer carns $120 ata
performance where 8 people attend.

How much money will the performer earn when
20 people attend a performance?

A) $960
B) $480
C) $300
D) $240

The performer uses 43% of the money earned to pay
the costs involved in putting on each performance.
The rest of the money earned is the performer’s
profit. What is the profit the performer makes ata
performance where 8 people attend?

A} $51.60

B) $57.00

C) $68.40

D) $77.00
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en 4 times the number x is added to 12, the
result is 8. What number results when 2 times x is
addedto7?

A) -1
B) 5
c) 8
D) 9

y= x*-6x+8
The equation above represents a parabola in the
xy-plane, Which of the following equivalent fortms of
the equation displays the x-intercepts of the parabola
as constants or coefficients?

A) y-8= x%—6x

B) y+l= (x—3)%

C) y=x(x~6)+8

D) y=(x-2)x-4)




n a video game, cach player starts the game with
k points and loses 2 points each time a task is not
completed. If a player who gains no additional
points and fails to complete 100 tasks has a score of
200 points, what is the value of k ?

A 0
B) 150
C) 250
D) 400

A worker uses a forklift to move boxes that weigh
either 40 pounds or 65 pounds each. Let x be the
number of 40-pound boxes and y be the number of
65-pound boxes. The forklift can carry up to either
45 boxes or a weight of 2,400 pounds. Which of the
following systems of inequalities represents this
relationship?

40x + 65y < 2,400

A) 'Lx+ys45

(x
— + == £2400
B) 140 65

[x+y <45

[ 40x + 65y < 45

© |x+y <2400

x+y <2400
) 40x + 65y < 2,400

A function f satisfies f(2) =3 and f(3)
function g satisfies g(3) =2 and g(5) = 6. Whatis

the value of f{g(3)) ?
A) 2
B) 3
Q) s
D} 6

=5 A

Number of hours Tony plans to read the

novel per day 3
Number of parts in the novel 8
Number of chapters in the novel 239
Number of words Tony reads per minute 250
Number of pages in the novel 1,078
Nurzther of words in the novel 349,168

Tony is planning to read 2 novel. The table above
shows information about the novel, Tony's reading
speed, and the amount of time he plans to spend

reading the novel each day. If Tony reads at the rates
given in the table, which of the following is closest to

the number of days it would take Tony to read the

entire novel?
A} 6
B) 8
C) 23
D) 324




n January 1, 2000, there were 175,000 tons of trash
in a landfill that had a capacity of 325,000 tons. Each
year since then, the amount of trash in the landfill
increased by 7,500 tons. If y represents the time, in
years, after January 1, 2000, which of the following
inequalities describes the set of years where the
landfill is at or above capacity?

A) 325,000-7,500 < y

B) 325,000 < 7,500y

C) 150,000 = 7,500y

D) 175,000 + 7,500y 2 325,000
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A researcher conducted a survey to determine
whether people in a certain large town prefer
watching sports on television to attending the
sporting event. The rescarcher asked 117 people who
visited a local restaurant on a Saturday, and 7 people
refused to respond. Which of the following factors
makes it least likely that a reliable conclusion can be
drawn about the sports-watching preferences of all
people in the town?

A} Sample size

B) Population size

C) The number of people who refused to respond
D) Where the survey was given

Miles Traveled by Air Passengers
in Country X, 1960 to 2005
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According to the line of best fit in the scatterplot
above, which of the following best approximates the
year in which the number of miles traveled by air
passengers in Country X was estimated to be

550 billion?

A) 1997
B) 2000
C) 2003
D) 2008



The distance traveled by Earth in one orbit around
the Sun is about 580,000,000 miles. Earth makes
one complete orbit around the Sun in one year. Of

the following, which is closest to the average speed of

Earth, in miles per hour, as it orbits the Sun?

A) 66,000
B) 93,000
C) 210,000
D) 420,000

Results on the Bar Exam of Law School Graduates

Passed | Did not pass
bar exam | bar exam

Took review course 18 82
qu not take ” 93
review course

The table above surnimarizes the results of 200 law
school graduates who took the bar exam. If one of
the surveyed graduates who passed the bar exam is
chosen at random for an interview, what is the
probability that the person chosen did not take the
Teview course? ‘

18
25
Zz
25
25
200

7
200

A)

B)

C

D)

The atomic weight of an unknown element, in

atornic mass units (amu), is approximately 20% less
than that of calcium. The atomic weight of calcium
is 40 amu. Which of the following best approximates
the atomic weight, in amu, of the unknown element?

‘A) 8
B) 20
C) 32
D) 48

A survey was taken of the value of homes in a county,
and it was found that the mean home value was
$165,000 and the median home value was $125,000.
Which of the following situations could explain the
difference between the mean and median home
values in the county?

A) The homes have values that arve close to each
other.

B) There are a few homes that are valued much less
than the rest,

C) There are a few homes that are valued much
more than the rest.

D) Many of the homes have values between
$125,000 and $165,000.



